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Question Number : 1 Question Id : 6801917206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following cannot be a method of measuring dispersion?

1. Range

2. Interquartile range and quartile deviation
3. Mean deviation or average deviation

4. Skewness

Options :

68019128301. 1
68019128302. 2
68019128303. 3
68019128304. 4

Question Number : 1 Question Id : 6801917206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019128301. 1
68019128302. 2
68019128303. 3

68019128304. 4

Question Number : 2 Question Id : 6801917207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Autocorrelation i any regression model raises questions about the:

. Validity of the model

. Reliability of the model

. Statistical significance of the model

4. Correlation between mdependent variables

| I

 Lad

Options :

68019128305. 1
68019128306. 2
68019128307. 3
68019128308. 4

Question Number : 2 Question Id : 6801917207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019128305. 1
68019128306. 2
68019128307. 3

68019128308. 4

Question Number : 3 Question Id : 6801917208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Table 1 1s the frequencies of occurence of data values in a data set. Find out the mode.

Value Frequency
18 4
19 1
20 3
21 1
S 2
23 |
24 1
26 1
27 1
32 |
33 1
49 1
32 1
56 |
Table 1
1.18
2. 56
3. 269
4.201
Options :

68019128309. 1
68019128310. 2



68019128311. 3
68019128312. 4

Question Number : 3 Question Id : 6801917208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68019128309. 1
68019128310. 2
68019128311. 3

68019128312. 4

Question Number : 4 Question Id : 6801917209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A company can buy-back its own shares or other specified securities by the following methods
except:-

1. from the existing securityholders on a proportionate basis through the tender offer
2. from open market through book-building process or stock exchange

3. from any person through negotiated deals on the stock exchange

4. from odd-lot holders

Options :

68019128313. 1
68019128314. 2
68019128315. 3

68019128316. 4

Question Number : 4 Question Id : 6801917209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019128313. 1
68019128314. 2
68019128315. 3

68019128316. 4
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Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An insurance contract is based on some basic principles of insurance, which of the following 1s
against those principles?

1. Principle of utmost good faith
2. Principle of msurer interest

3. Principle of causa proxima

4. Principle of mdemnity

Options :

68019128317. 1
68019128318. 2
68019128319. 3

68019128320. 4

Question Number : 5 Question Id : 6801917210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
68019128317. 1
68019128318. 2

68019128319. 3

68019128320. 4
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In reference to fire msurance following facts are given. Identify the correct statements.

(A). Fire msurance 1s a comprehensive policy which covers loss on account of fire, earthquake,
riots, floods. strikes and malicious intent.

(B). Fire Insurance can be taken only by the owner of the premises to be mnsured.

(C). A tenant cannot insure rented premises but he can insure the contents of the premises.

(D). Fire msurance 1s compulsory if your house/flat 1s financed by bank or any other financial
institutions.

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.

2.(A), (B) and (C) only.

3.(A).(B). (C) and (D).

4. (B). (C) and (D) only
Options

68019128321. 1
68019128322. 2
68019128323. 3

68019128324. 4

Question Number : 6 Question Id : 6801917211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019128321. 1



68019128322. 2
68019128323. 3

68019128324. 4

Question Number : 7 Question Id : 6801917212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are General Insurance companies in public sector?
(A). Oriental Insurance Company Limited

(B). New India Assurance Company Limited

(C). SBI General Insurance Company Limited

(D). United India Insurance Company Limited

Choose the correcr answer trom the options given below:

. (A). (B) and (C) only.
. (A). (B) and (D) only.
. (A). (B). (C) and (D).
4. (B). (C) and (D) only.
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Options:

68019128325. 1
68019128326. 2
68019128327. 3
68019128328. 4

Question Number : 7 Question Id : 6801917212 Question Type : MCQ Option Shuffling : No Is
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:
68019128325 1
68019128326. 2
68019128327. 3

68019128328. 4

Question Number : 8 Question Id : 6801917213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are the determinants for the price elasticity of demand?
(A) Availability of close substitutes

(B) Necessities versus Luxuries

(C) Definition of the market

(D) Time Horizon

1. (A). (B) and (C) only.
2. (A). (B) and (D) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.
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Options :

68019128329. 1
68019128330. 2
68019128331.3
68019128332. 4

Question Number : 8 Question Id : 6801917213 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019128329. 1
68019128330. 2
68019128331. 3

68019128332. 4

Question Number : 9 Question Id : 6801917214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It 15 said to be economies of scale when:

1. long run average total cost declines as output increases
2. long run average total cost rises as output increases
3.1
4.1

ong run average total cost does not vary with the level of output
ong run fixed cost stay constant as output increases

Options :

68019128333. 1
68019128334. 2
68019128335. 3

68019128336. 4

Question Number : 9 Question Id : 6801917214 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019128333. 1
68019128334. 2
68019128335. 3

68019128336. 4

Question Number : 10 Question Id : 6801917215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A firm's long-run decision to enter in or exit from a market depends upon firm's ability to
manage total revenue (TR), total cost (TC). quantity produced (Q). average total cost (ATC) and
price of the goods (P). Which among the following 1s best suited for an entrepreneur interested to
enter in a market?

1. fTR<TC

2. f TRIQ <TC/Q

3.1f P> ATC

4.1fP<ATC
Options:
68019128337. 1
68019128338. 2
68019128339. 3

68019128340. 4

Question Number : 10 Question Id : 6801917215 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019128337. 1
68019128338. 2
68019128339. 3

68019128340. 4

Question Number : 11 Question Id : 6801917216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Keynesian relationship between income and consumption 1s termed as:

1. Consumption

2. Consumption expenditure
. The consumption function
4. The production function

L]

Options:

68019128341. 1
68019128342. 2
68019128343.3
68019128344. 4

Question Number : 11 Question Id : 6801917216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

68019128341. 1
68019128342. 2
68019128343. 3
68019128344. 4

Question Number : 12 Question Id : 6801917217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To understand the use of scarce resources and to study the composition of GDP (Gross Domestic
Product) among various types of spending, GDP 15 divided into which of the following
components?

(A) Consumption

(B) Investment

(C) Governement Purchases and Net Exports
(D) Governement Consumption and Net Imports
1. (A). (
2.(B).(
3. (A). (
4.(A).(

)and (C) only.
) and (D) only.
). (C) and (D).
) and (D) only.

B

C
). (B

C
Options :
68019128345. 1
68019128346. 2
68019128347. 3

68019128348. 4

Question Number : 12 Question Id : 6801917217 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 6801917218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |15-LM Model I |shows the points that satisfy equilibrium in the goods market
8. 15 Curve I combines kevnestan cross and the elements of the theory of liquidity
' ' " |preference
G iri?:ecnon wHis RN III. |shows the points that satisfy equilibrium 1n the money market
D 1M Curve v shows the interest rate and income that satisfy equilibrium 1n both
T " |markets for a given price level

Choose the correet answer from the options given below:

L. (A)- (D). (B) - (I). (C) - (IIT), (D) - (IV)
2.(A)- (). (B) - (II). (C) - (TI). (D) - (IV)
3.(A)- (D). (B ) (IV). (C) - (TT). (D) - (T)
4.(A) - (IT). (B) - (I). (C) - (IV). (D) - (III)

Options:



68019128349. 1
68019128350. 2
68019128351. 3

68019128352. 4

Question Number : 13 Question Id : 6801917218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yeil-1 1Y -1 &1 e Sifou
il &
A |HRUE- T HIST 1. | TR & Tqe @i Sqp 33 a1 fegad B i g
B. |3M5UU I |@HREE $IY 3R dRadl a4gd & igid & el &l wigdl &

o mﬁg REEHDI |y 51 S9IR H Yo ®I SqF B3 K fagetl @i il o
. [t SR 3R el cian g o fd Ry g TR @ forg
ok N |G e & e B iy AT

fFfaRed fdwedl # T Wet 3R &1 907 B ;

). (B) - (II). (C) - (IIT). (D) - (IV
). (B) - (I). (C) - (II). (D) - (IV
i (B) - (IV). (C) - (IIT). (D) - (I
). (B J (I). (C) - (IV).(D) - (I1I

=
L LI B N L -

Options :

68019128349. 1
68019128350. 2
68019128351. 3
68019128352. 4
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The reasons which transform a valid contract mto a void contract are given 1n List-IT while the
example of each reason 18 given on List-L.

Match List I with List IT

LISTI LISTII

(Example of transforming a valid contract into a void contract (Reasons)

A and B contract to marry each other. Before the time fixed for the i 7
A : : I. |Contract contingent
marriage, A goes mad =

A agrees to sell B 100 bags of wheat at Rs. 1630 per bag. Before delivery, Repudiation of a

B : : e 1ol ot
the Governement bans private trading m wheat. voidable contract
C A contracts to give Rs. 1000 as loan to B, 1f B marries C. C dies without I Supervening
" |being married to B. " |mmpossibility

A threatening to murder B's son, makes B agree to sell his car worth Rs.
D |15.00,000 for a sum of Rs. 3,00,000 onlv. B's consent is not free he may IV. [Subsequent illegality
either affirm or reject the contract. And B decides to rescind the contract.

Choose the correct answer from the options given below:

1. (A)-(I). ( - (I). (C) - (III). (D) - (IV)

2.(A)-(II). (B) - (IT). (C) = (I). (D) = (IV)

3.(A)- (H)( -(IV). (C) - (II). (D) - (T)

4.(A) - (II). (B) - (IV). (C) - (I). (D) - (II)
Options :

68019128353. 1
68019128354. 2
68019128355. 3

68019128356. 4
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Options :

68019128353. 1
68019128354. 2
68019128355. 3

68019128356. 4

Question Number : 15 Question Id : 6801917220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

According to the Sale of Goods Act (Section 9 ), modes of fixing the price by one or the other
are:

(A). It may be expressly fixed by the contract itself

(B). I the price 1s not capable of being determined 1n accordance with any of the other modes.
the buyer 1s bound to pay the seller price of his own choice

(C). It may be determined by the course of dealings between the parties

(D). It may be fixed in accordance with an agreed manner provided by the contract

Choose the correct answer from the options given below:

B) and (C) only.
B) and (D) only.
C). and (D) only.

)

Options :

68019128357. 1
68019128358. 2
68019128359. 3
68019128360. 4

Question Number : 15 Question Id : 6801917220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:
68019128357. 1
68019128358. 2



68019128359. 3
68019128360. 4

Question Number : 16 Question Id : 6801917221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

At how many levels consumer protection councils are established?

1. two 1.e. center and state

2. three 1.e. center, state and district

. four 1.e. center, state, divisional and district

4. five 1.e. International. National. State. Divisional and District

L)

Options :

68019128361. 1
68019128362. 2
68019128363. 3

68019128364. 4

Question Number : 16 Question Id : 6801917221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 6801917222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following incidents in order of their occurence (First to Last)
(A). Establishment of LIC

(B). Establishment of IRDA

(C). The Insurance Act.

(D). FDI in Insurance Sector in India

Choose the correct answer from the options given below:

1. (A). (B). (C). (D).
2. (C). (A), (B). (D).
3. (D). (A). (B). (C).
4. (C). (B). (D). (A).

Options :

68019128365. 1
68019128366. 2
68019128367. 3
68019128368. 4

Question Number : 17 Question Id : 6801917222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafcTRad el ®I 39d! el & »hH H oudiedd @ (WYd ¥ SifdH)
(A) T, 3415, . BT =Irg=1

(B) 3T ARSIT BT RITGAT

(C) &|T AfSHTg|

(D) HRd | 41 &7 § Thateng

-9 fau Y fdeedl O 9 |8t SR I |

_(A), (B). (C). (D).
(). (A). (B). (D).
.(D). (A). (B). (C).
4. (C). (B). (D). (A).

2 =

Taa

Options :

68019128365. 1



68019128366. 2
68019128367. 3

68019128368. 4

Question Number : 18 Question Id : 6801917223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following 1s an ancilliary function of Bank?

1. Foreign Exchange
2. Credit Creation

3. Demand Deposits
4. Lending of Funds

Options :

68019128369. 1
68019128370. 2
68019128371.3
68019128372. 4

Question Number : 18 Question Id : 6801917223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fAafafad § 9 ©F 91 §& & 981® $14 82

1. faq=it gar
2. GG oA
3. HIT o T
4. BUT AT

Options :

68019128369. 1
68019128370. 2
68019128371. 3

68019128372. 4



Question Number : 19 Question Id : 6801917224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Lead bank scheme of RBI aims for the following objectives except:

1. to coordinate the activities of banks and other development agencies

2. to achieve the objectives of enhancing the flow of bank finance to priority sector

3. to promote the bank's role in overall development of the rural sector

4. to strengthen financial inclusion by providing payment/remittance to migrant labour
workforce. low income households and small business

Options :

68019128373. 1
68019128374. 2
68019128375. 3

68019128376. 4

Question Number : 19 Question Id : 6801917224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ARSI i e da TioHT & Jevd gfaiad 3. Ram -

1. §f 3R 3 ey weifid] &1 iifafal &1 9o s

2. WTBrea aTet &5 § a7 fa< o YaT8 DI agH & Sexul Pl WK Bl

3. 9T &1 o Y faobry § o 1 3[BT bl agral ol

4, VTt Py SRiee, S 3 aTd URARI SR BIC SAaHd! Bl YT/ AT YaH
PP i FHIERH B Tofgd DI

Options :

68019128373. 1
68019128374. 2
68019128375. 3

68019128376. 4



Question Number : 20 Question Id : 6801917225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An arrangement where a group of banks. which may not have any other business relationship
with the borrower, participate for a single loan 1s known as :

1. Consolidation in banking
2. Collateral Finaneing

. Loan Syndication

4. Loan diversification

faa

Options :

68019128377. 1
68019128378. 2
68019128379. 3

68019128380. 4

Question Number : 20 Question Id : 6801917225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS U1 ooy o o] &1 U wig, [orgeT SR & W1y By, 3 Aadia® day
ol ol godl 5. U BU & [0 I Il 6. Poard o:

1. s H t@ i

2. Fu1ies famarsor

3. B RifgseH

4. 07 fafaefiemom

Options :

68019128377. 1
68019128378. 2
68019128379. 3

68019128380. 4

Question Number : 21 Question Id : 6801917226 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following can not be considered as a refinance institution?

1. NABARD
2. SIDBI

3. EXIM Bank
4. NHB

Options :

68019128381. 1
68019128382. 2
68019128383. 3
68019128384. 4

Question Number : 21 Question Id : 6801917226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Frafafed d 9 fod grfaw =M =381 9F1 o 9ol 52
1. 1618
2. Foedt
3. Ufdey d
4. TGl
Options :
68019128381. 1
68019128382. 2
68019128383. 3

68019128384. 4

Question Number : 22 Question Id : 6801917227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Which among the following is an activity offered by SIDBI under promotional and
developmental support or through "Credit Plus" approach?

. MSME Advisory

. Export Capability Creation

. Consultancy for project financing

. Pilot project for integrated development of backward blocks

L e

Options :

68019128385. 1
68019128386. 2
68019128387. 3

68019128388. 4

Question Number : 22 Question Id : 6801917227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafad @ o 9 1iafafd fsd R ER 3R fierras Yemd & dgd 01 "dise
g TSI & HH I 3 o 87

1. THUHAS, RISl

2. Fid ema 9o

3. UREIGH & femaigur & fow tRrmel

4. U5 S =il D UDIRd f[derd & fot yrere gRgeH

Options :

68019128385. 1
68019128386. 2
68019128387. 3

68019128388. 4

Question Number : 23 Question Id : 6801917228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s/are true for secondary market?
(A). Facilitates Liquudity and marketability of securities
(B). Provides valuation of securities

(C). Enables Price Discovery

(D). Creates a wealth effect

Choose the correcr answer trom the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (A). (B). (C) and (D).
4. (B). (C) and (D) only.

A

Options :

68019128389. 1
68019128390. 2
68019128391. 3

68019128392. 4

Question Number : 23 Question Id : 6801917228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

FrafaRad 4 9 o 3 fodioe SR & o 98t 8/ee

(A) fdyfodl B eRerdl iR fa9UrT a1 o1 g §1d &
(B) UiaY[d| &1 Hedid- W& &l &

(C) el TIl &H F3al &

(D) ¥ T YH1d UaT ol &

- fau e faoedl O 9 9ol S I |

1. dd(A). (B) 3R (D)
2.%ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D).
4. %4d (B). (C) 3R (D)

Options :

68019128389. 1
68019128390. 2
68019128391. 3

68019128392. 4



Question Number : 24 Question Id : 6801917229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII

The Middle Office] 1. |involved in administration but without being seen by customers

>

Office Automation| II. |office without physical space and facilities

Virtual Office I1I. |is a part of operations division of the business unit

o|o|w

Back Office IV |aim is to reduce paper work and speed up business operation

Choose the correct answer from the options given below:

L. (A) - (I). (B) - (I). (C) - (IIT). (D) - (IV)

2. (A) - (IID). (B) - (IV). (C) - (I). (D) - (I)

3.(A)- (D). (B) - (II). (C) - (IV). (D) - (IIT)

4. (A) - (IIT). (B) - (IV). (C) - (I). (D) - (II)
Options :

68019128393. 1
68019128394. 2
68019128395. 3

68019128396. 4

Question Number : 24 Question Id : 6801917229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gl I(PTaTd & YPR) & 1Y Fell-11 (1) BT e Hiorg

el E I

A lmoerfe |1 (e e ofed Tee! gR ol e

B. |@rafcr wareH| 1. [wrfed i Hiftd =M R glaensi & o
C. |yt Fri | 1. [ceais SeT & Sara WHRT &1 0% Y &)
D. 9@ Mg | IV, 3591 350 SFT6l S &I $H S AR AGES Gara- J doll a5
frafafed ol § 3 Ogt SR &1 9u7 pif .

1. (A) - (I). (B) - (I1). (C) - (I1I), (D) - (IV)

2. (A) - (TID), (B) - (IV). (C) - (I1). (D) - (D)

3.(A)-(I).(B)-(II). (C) - (IV). (D) - (IIT)

4.(A) - (IlI). (B) - (IV). (C) - (I). (D) - (II)
Options :

68019128393. 1
68019128394. 2
68019128395. 3

68019128396. 4

Question Number : 25 Question Id : 6801917230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is not a function of filing system in office?

1. classification of documents on a pre-determined basis

2. filing of letters and other documents atter action taken in cardboard file covers or folders
3. preservation of file covers or folders in cabinets fitted with drawers

4. disposal and discard of old papers and records when they are useful

Options :

68019128397. 1
68019128398. 2
68019128399. 3
68019128400. 4

Question Number : 25 Question Id : 6801917230 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ffatad # S &H 91 Sy 8 Bigior Jue &1 &1 Tal 872

1. 7d FeiiRd SMUR W Z&1asi] 1 g _

2. BIoals Blgd Ha3 J1 Hieet § ® 5 HRATs & 918 UA1 AR 3 S&idol & gied
Al

3. ERT1 & GEIwI STHIRE] H BIge $aR U1 BIes3 ol SReu

4, JUGRT §H IR QR PTG SR Sl BT U AR @Rt

Options :

68019128397. 1
68019128398. 2
68019128399. 3
68019128400. 4

Question Number : 26 Question Id : 6801917231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is the correct abbreviation of computer terminology?

1. Hyper Transfer Protocol (HTTP)
2. World Wider Web (www)

3. Read-only memory (ROM)

. (RAM) random memory

=y

Options :

68019128401. 1
68019128402. 2
68019128403. 3

68019128404. 4

Question Number : 26 Question Id : 6801917231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Frofafaa ¥ ¥ o1 O $eR Tseadl &1 98l A T 82

1. BISUR THHI HicidId (HTTP)
2. EIQ_EFW aa’{mm-}

3. 318 et 9OR (rOM)

4. (RAM) Tref=3e Hid

Options :

68019128401. 1
68019128402. 2
68019128403. 3

68019128404. 4

Question Number : 27 Question Id : 6801917232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GeM portal (Government e-market place) 1s a e-commerce platform.

. B2B (Business to Business)

. G2G (Government to Government)
. B2C (Business to Consumer)

4. G2C (Governement to Consumer)

I —

%]

Options :

68019128405. 1
68019128406. 2
68019128407. 3

68019128408. 4

Question Number : 27 Question Id : 6801917232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SII50H Oicd (RPN 5-H1de ©) TP 5-PI0Y GewhH g

1. szt (f[go9 ¢ fau-9)

2. Sil2%ll ma‘r?ﬁ?‘dﬂaﬁfﬁ?
3.4612 ?ﬁ(mwm@rduumﬂn
4. ST (Ta-He € JuMiET )

Options :

68019128405. 1
68019128406. 2
68019128407. 3
68019128408. 4

Question Number : 28 Question Id : 6801917233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Cyclical variations in time series

1. exists due to ups & downs recurring after a period from time to time but they may not be
uniformily periodic

2. are a result of unforeseen and unpredictable forces which operate i absolutely random or
erratic manner.

3. takes place due to the rhythmic forces which operate in a regular and periodic manner.

4. tendency of a data to increase or decrease or stagnate over a long period of time

Options:

68019128409. 1
68019128410. 2
68019128411.3

68019128412. 4

Question Number : 28 Question Id : 6801917233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y §3Ed H 9519 URaaH

1. Y- R U ${aft] & a1g $Madl SaR-9¢d & PR HIE § b o FHH &Y 4
AP el & 9Pd ¢

2. T ST SR e & Q 3 Wit &1 ko § o foepa uefss o
Sffafi i O P Bl B _

3. % 995 90| & DRUIGI 6 ol FHafHd 3R afe awid Y S #d ¢l

4, 9 TG 06 Sel d gig a1 S U1 Se%1d B Ygfd

Options :

68019128409. 1
68019128410. 2
68019128411. 3
68019128412. 4

Question Number : 29 Question Id : 6801917234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Apart from Gross Domestic Product (GDP), Gross National Income (GNI). and Net National
Income (NNI) the other important indicators to measure health of an economy will be:

. capital formation and savings
. gross national expenditure

. income of HNI Citizens

4. deposits in Swiss Bank

= —

L]

Options :

68019128413. 1
68019128414. 2
68019128415. 3

68019128416. 4

Question Number : 29 Question Id : 6801917234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qH T TR IS (it 31, UL, G AT S (Sf. T, 3175,) ﬁ?ﬁﬂﬁﬂ@jﬂﬁﬂ(ﬁ T,
3T5.) & Sfaral srfarawy &1 R & J199 & oy 3 Hgaqyl ohad il -

1. gl i SR &=
2. Ha Pl g
3. 09, T, 3. ARG @1 3
s Rogde o
Options :
68019128413. 1
68019128414. 2
68019128415. 3

68019128416. 4

Question Number : 30 Question Id : 6801917235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Following are the statements highlighting the socio-economic indicators of India's population.
Identify the correct statements.

(A). India has one of the lowest life expectancy (69.4 years)

(B). Since 1990%s, Indian economic growth 1s mainly based on manufacturing and services
sector.

(C). Reproductive Health, measured by the maternal mortality ratio and adolescent birth rates
(D). Labour market participation. measured by the labour force participation rate of female and
male populations aged 18 years and older.

Choose the correct answer from the options given below:

(A
(A
(
(

). (B) and (D) only.
) (
3. (A)(
1 (A) (

)
) and (C) only.
)
)

(C) and (D).

B
B
C) and (D) only.

4. (A
Options :

68019128417. 1
68019128418. 2
68019128419. 3

68019128420. 4

Question Number : 30 Question Id : 6801917235 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FRfaRad HYT YR B SFERE & THEIT®-3A1S GHad] W THH S1ad & | Te! SUHl
GIREEIEETY

A) YRd H Sfia- U 999 &4 (69.4 T9) B

B) 1990 & 3@ ¥, 4Rl 311 faamy mer =0 8 Sare ok a1 87 W e |
(C) o TR, AT e & 3R fep=IR S X gIRT A1 Il 3

(D) 97 GTGIR HFHERY, 18 TY 3R ITY 3ifdh o1g &1 Afgel 3fR T MaTe] 31 41 Te
yriieR &) g ATt ol 5

14 feu e fodedi & € ugt SR T
1 %Tq'a A), (B) IR (D)
A), (B) AR (C)
.(C) 5?1?{
A), (C) AR (D
Options:

68019128417. 1
68019128418. 2
68019128419. 3

68019128420. 4

Question Number : 31 Question Id : 6801917236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Indian Trade Classification (National Harmonized System of Goods) ITC (HS) Code is having
digit.

1. 10
2.8
3.

4,12
Options :
68019128421. 1
68019128422. 2
68019128423. 3

68019128424. 4



Question Number : 31 Question Id : 6801917236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W?WW(WWEW 31 TTH) ECRil (Taud) DS H
w3

1.10
2.8
3.6

4.12
Options :
68019128421. 1
68019128422. 2
68019128423. 3

68019128424. 4

Question Number : 32 Question Id : 6801917237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

This scheme provides refund of import duty on raw materials, components. and packing
materials used in export product which reduced the input cost of export.

1. Duty drawback

2. Custom duty exemption
3. Central excise rebate

4. Income tax exemption

Options :

68019128425. 1
68019128426. 2
68019128427.3

68019128428. 4

Question Number : 32 Question Id : 6801917237 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T i fa1d SaTe | IUanT f6U 9 aTd el 71d, Ued! 3R Ufd T Il IR S
e @1 a9 FaH Bl ¢ forgy AT &1 39Ye dTd $H 8l 9Tl 5

1. Yoo agdi

2 UM e B ge

3. 1Y IS Yoo H Pe
4. P H ge

Options :

68019128425. 1
68019128426. 2
68019128427.3
68019128428. 4

Question Number : 33 Question Id : 6801917238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which Authority acts as a facilitator of exports and imports in India?

. DGFT (Director General, Foreign Trade)

. DGS&D (Director General. Supply & Depot)

3. Minister of Commerce and Trade

4. Chief Secretary, Ministry of Commerce and Trade

| R

Options :

68019128429. 1
68019128430. 2
68019128431. 3

68019128432. 4

Question Number : 33 Question Id : 6801917238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

B g1 WIfe0r YRd H fHaid R 31ad & 9e0e & &0 § &1 H3dl 82

1. SIlUw el (HETH. [aeR TR)

2. SIGITH US S (U814, 3Myfd 3R f3n)
3. 9TfUSg Ud SOTOR HAl

4. 70 Fiq, q1iored Ud AR HA10d

Options :

680191284209. 1
68019128430. 2
68019128431.3

68019128432. 4

Question Number : 34 Question Id : 6801917239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are the duty of an auditor?

(A). to measures business events in terms of profit and loss and communicate the financial
conditions of the business

(B). to prepare a balance sheet representing a true and fair picture of the financial position of the
business

(C). to prepare final accounts, computation of taxable. income. etc. while acts as an accountant
(D). to report whether the profit and loss account represents a true and fair picture of the profit or
loss

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2.(B). (C) and (D) only.
3.(A). (B). (C) and (D).
4.(A). (C) and (D) only.
Options :
68019128433. 1
68019128434. 2
68019128435, 3

68019128436. 4



Question Number : 34 Question Id : 6801917239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafad 5 9 o 91 sided &1 o1 8

(A) TTH 3R g1FH & Geu & Sauiie ge-1afl & A19- 3R ogaur @1 o Rufal @
Ifd &en & fou ,

(B) oFam & fawiig fufd &1 U8t 3R e qwdR &1 yidFifeia S are o0 daR
S|

() GETPR & &9 H S $3d gU A GId GUR T, T2 U 31 17 B 0T ST
(d) e ROTE e o Ay SR g1 aren o 1 81 @1 et 3R oy iR gufar g
< feu e fowedl § € 98! SR |

1.%ad (A), (B)3R (D)

2. 34 (B), (C) R (D)

3. (A). (B). (C) 3R (D)
4.%ad (A), (C) HR (D)

Options :

68019128433. 1
68019128434. 2
68019128435. 3

68019128436. 4

Question Number : 35 Question Id : 6801917240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Clerical errors in the book of accounts are classified as:

1. Errors of omission and errors of commission
2. Compensating and non compensating errors
. Errors of duplication and error of replication
4. Errors of principle and subjective errors

s

Options :

68019128437. 1
68019128438. 2
68019128439. 3



68019128440. 4

Question Number : 35 Question Id : 6801917240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 igant | feifte i Ffedl of 35 UPR aiidd [bal T 6 -

1. 9% P! Afedl 3R HHIRA F1 Ffedr
zﬁwﬁ?ﬁ{ﬁwgﬁﬁ
3. Ag%1d 1 Ffel 3R uidephd &1 Ffe

4. IGId 3R aafdqu=a Ffear

Options :

68019128437. 1
68019128438. 2
68019128439. 3

68019128440. 4

Question Number : 36 Question Id : 6801917241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If internal control 1s . the auditor may confine his only to a
representative number of transactions and avoid a detailed verification of every transaction
which will be costly both in terms of time and money.

1. Effective. audit procedures
2. Low, practice

3. Ineffective, audit procedure
4. High, accounting work

Options :

68019128441. 1
68019128442, 2
68019128443.3

68019128444. 4



Question Number : 36 Question Id : 6801917241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o SR AIEC E o A Pl had

yfafiel S & Oe 7 i T Gobdl § 3R WP Ga o a%gd Feie 4 99 T
& off WY 3R ¢ <l & e | W g

1. U7, Sicheor wibard
2. TH, g

3. 3UHTAT, Sidrem ufehar
4, T, AP I

Options :

68019128441. 1
68019128442. 2
68019128443.3

68019128444. 4

Question Number : 37 Question Id : 6801917242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The provisions concerning the company auditor are contained from section 224 to 233B of
Companies Act.

Match List-I (Section) with List-II (Dealing with matters)

LISTI LISTII
A |Sec.227 [. |Right of auditor to attend general meeting
B. |Sec.226 II. |Reading and inspection of auditor's report
C. |Sec.231 II1. |Qualifications and disqualifications of auditors
D. |Sec.230 IV. |Powers and duties of auditors

Choose the correct answer from the options given below:

L. (A)- (D). (B) - (1), (C) - (ILI). (D) - (IV)
2.(A)-(IV). (B) - (III). (C) - (I). (D) - (I)
3. (A) - (IV). (B) - (II), (C) - (I). (D) - (II)
4.(A) - (II), (B) - (IV). (C) - (1). (D) - (II)

Options :



68019128445. 1
68019128446. 2
68019128447. 3

68019128448. 4

Question Number : 37 Question Id : 6801917242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST e T Gafid WU Su-T HfARTE Bt uRT 224 T 2336 9 AR B

-1 (URT) & 1Y FAl-11 (Fe 8 e &1 e sifon

T 1 =
A |4RT227 I |3iee &1 o 9o o YR o &1 STUHR
B. [4RT22 1L |3idhefdh o1 RUIE &l g1 3R a0 |
C. |4mm231 111 | 3ihef! B 3fedrd 3R ara"
D. [fmmz0 IV, |3{cheid! @ Faadl AR dad

frafafad fam el § 9 et S o198 DI -

1.(A) - (D). (B) - (I). (C
2. (A) - (IV), (B) - (III).
3.(A) - (IV), (B) - (TII).
4. (A) - (IIT), (B) - (IV).

II). (D) - (IV)
- (IT). (D) - (I)
- (D). (D) - (II)

c
»
C)-(1). (D) - (II)

—

(
)
)
)
Options :

68019128445. 1
68019128446. 2

68019128447. 3
68019128448. 4

Question Number : 38 Question Id : 6801917243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to Income Tax Act. 1961, Assessesee in default 15 a person who:

.18 deemed to be an assessee for some other person

. a person who has failed to fulfil his statutory obligations as per the Income Tax Act
.18 the person who is liable to pay the income tax during a assessment year

4. 18 the person by whom any tax or any other sum of money 1s payable under this Act

| S

L]

Options :

68019128449. 1
68019128450. 2
68019128451. 3

68019128452. 4

Question Number : 38 Question Id : 6801917243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR S 1961 & SFHR, el & dRard Ue o g o

1. forelt o oo & o aerar AT oI §
3.%@“mﬁ£aaﬁwummﬁﬁuﬂ$ﬂ¥ﬂwﬂﬁmﬁ$aﬁﬁﬁqﬂaﬂﬁﬁﬁww
3. 98 e § o R0 oY & GRIF SaR &1 YTTdH v & o0 SwRemt §

4. T8 of & forge gRI ST i & ded ol ax AT ol Jg A 3T 7

Options :

68019128449. 1
68019128450. 2
68019128451. 3

68019128452. 4

Question Number : 39 Question Id : 6801917244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Long term capital gain is not exempted in which of the following case?

1. Transfer of a residential house and investment in one residential house
2. Transfer of agricultural lands

. Compulsory acquisition of land and building of industrial undertakings
4. Transfer of assets

L]

Options :

68019128453. 1
68019128454. 2
68019128455. 3
68019128456. 4

Question Number : 39 Question Id : 6801917244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
Frafead 3 @ fog gz 3 ddeiiie goind o o ge 78 €6 T 8

1. U% AT R &1 §Xdia0l 3R U arey = § Ao
2. P YA BT FHIR]

3. TP TUF S Y 3R Ya &1 SHard fewgu

4. GREURIE] &1 EIaRUl

Options :

68019128453. 1
68019128454. 2
68019128455. 3

68019128456. 4

Question Number : 40 Question Id : 6801917245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following 1s a demerit of direct tax?

1. Certainty
2. Equity

3. Arbitrary

4. Elasticity and productivity

Options :

68019128457. 1
68019128458. 2
68019128459. 3

68019128460. 4

Question Number : 40 Question Id : 6801917245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafad 5 ¥ &1 1 e X $1 3@ 8

IBIEGGI

Tl

HTHET

4. TG 3R IdGH ]

Options :

fag 2 —

68019128457. 1
68019128458. 2
68019128459. 3
68019128460. 4

Question Number : 41 Question Id : 6801917246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Under the Income Tax Act. 1961 a Hindu Undivided Family (HUF) consists the following
except:

1. all persons lineally descended from a common ancestor and includes their wives
2. unmarried daughters

3. a stranger who has been residing with the family sinee 10 years
4. head of the HUF "Karta"

Options :

68019128461. 1
68019128462. 2
68019128463. 3
68019128464. 4

Question Number : 41 Question Id : 6801917246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3maaR ST, 1961 & d8d U fgg sfduiord uikar (Taguw) ¥ FHafafad wmite g
frag .

1. gl ol U HHIF Udal & a9 § R 379 3o Uleal ol Wida §
2. Sffqargd sfeal

3. TS el o 10 G ¥ IRGR & JU E @l g
4.79. 9, UP. & 74E "Har

Options :

68019128461. 1
68019128462. 2
68019128463. 3
68019128464. 4

Question Number : 42 Question Id : 6801917247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A company can remove a director before the expiry of the period of his office by passing:

1. a special resolution

2. an ordinary resolution

3. a resolution by special notice
4. a board resolution

Options :

68019128465. 1
68019128466. 2
68019128467. 3

68019128468. 4

Question Number : 42 Question Id : 6801917247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS S [t e @l 39 Haiay $f 3afy T eH Y U84 ......... & GRI gal
THdl gl

1, U9 {999 Wara

2. T IR TG

3. T9QIY =1 ER1 U8 W

4, U9 818 TE19

Options:

68019128465. 1
68019128466. 2
68019128467. 3
68019128468. 4

Question Number : 43 Question Id : 6801917248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Where title in shares of a company 1s in dispute, the matter has to be resolved by:

1. Court

2. Arbitrator

3. Company Law Board
4. Central Government

Options :

68019128469. 1
68019128470. 2
68019128471.3

68019128472. 4

Question Number : 43 Question Id : 6801917248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el fpdt dramt o SRl § Wi faare § 8, a8l A1Hd &1 593 gRIgA &l el

1. Oty

2. HEY

3. HUHl fafi ars

4. HE PR
Options :

68019128469. 1
68019128470. 2
68019128471. 3

68019128472. 4

Question Number : 44 Question Id : 6801917249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Any general meeting held between two annual general meetings will be called:

. an extraordinary general meeting
. a board meeting

. a statutory meeting

4. a class meeting

| I

L]

Options :

68019128473. 1
68019128474. 2
68019128475. 3

68019128476. 4

Question Number : 44 Question Id : 6801917249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l gt 3 THIS & a1 g arell [t +ff 39 94T &1 Fgl SIu:

1. U STHTROT 3T JHT
2. GI8 DI GHT
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4. 9Uil gy

Options :

68019128473. 1
68019128474. 2
68019128475. 3

68019128476. 4

Question Number : 45 Question Id : 6801917250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Out of the following statements. which one 1s incorrect as regard to the Director Identification
Number (DIN)?

1. DIN 15 a unique 1dentification number and once obtained is valid throughout the lifetime of
a director

2. DIN 1s mandatory for all directors of Indian companies whether they are citizens of India
or not

3. DIN 1s mandatory for directors of foreign company having branch offices m India

4. A single DIN is required for an individual irrespective of number of directorships held by
him

Options :

68019128477. 1
68019128478. 2
68019128479. 3

68019128480. 4

Question Number : 45 Question Id : 6801917250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y vear e (&1, a8, T.) & Udy ¥ Fofafed oo 5 3 oF 91 Sy e 8
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Options :

68019128477. 1
68019128478. 2
68019128479. 3

68019128480. 4

Question Number : 46 Question Id : 6801917251 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Actual Estimates [. |Estimates of the coming financial vear.
Provisional . - . I
B. 3 Il |Estimates of revenue and expenditure of the current financial yvear.
Estimates -
C. |Budget Estimates [II. |Estimates of expenditure and receipts of the preceding financial year.
, . |These estimates are made before the actual occurrence of economic
D. [Advanced estimates | IV. e
¥ i

Choose the correct answer from the options given below:

L. (A)-(I). (B)-(II). (C) - (IT). (D) - (IV)
2.(A) - (II). (B) - (IT). (C) - (I). (D) - (IV)
3.(A)-(IV). (B) - (II). (C) - (I). (D) - (IIT)
4.(A) - (). (B) - (IV). (C) - (I). (D) - (II)

68019128481. 1
68019128482. 2
68019128483. 3

68019128484. 4

Question Number : 46 Question Id : 6801917251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 1 51 gl 11 ¥ fie Sifor

AT Gl
A |arafad® oFEE| 1 [emmdt oo ad & saE |
B. |3 o AH | 1L |41 fa 99 & Yo 3R o9 & S|
C. [@9c oFfAE | 111 [qdadi fawiia ad & ooy 3R witad] & A |
D. [H SFAE | IV, [T S A1 TTfafafy Bt araidsd ve-1 3 Ugd fby o &

e fGU T faoedl & 9 et SR I

1. (A) - (I). (B) - (II). (C) - (III). (D) - (IV)
2. (A) - (). (B) - (IT). (C) - (I). (D) - (IV)
3.(A) - (IV). (B) - (II). (C) - (I). (D) - (IIT)
4. (A) - (III). (B) - (IV). (C) - (I). (D) - (II)



Options :

68019128481. 1
68019128482. 2
68019128483. 3
68019128484. 4

Question Number : 47 Question Id : 6801917252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statement 1s true for Securities Transaction Tax?

. levied on the buying or selling of shares in the stock market

. also known as inheritance tax

. imposed on the transaction of commodities in commodity exchanges
4. mtroduced in 2022-23

| R

L]

Options :

68019128485. 1
68019128486. 2
68019128487. 3

68019128488. 4

Question Number : 47 Question Id : 6801917252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafaiad @ 9 o1 91 Sy idufd a-e B & [aU el 87
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Options :

68019128485. 1

68019128486. 2



68019128487. 3
68019128488. 4

Question Number : 48 Question Id : 6801917253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Financial year in India end on:

. March 31st

. April 1st

. December 31st
4. April 30th

|

L]

Options :

68019128489. 1
68019128490. 2
68019128491. 3

68019128492. 4

Question Number : 48 Question Id : 6801917253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

YRa | fa<iig ad &7 3id

1.31 A
2.1 30
3.31 fedaR
4. 30 3@

Options :

68019128489. 1
68019128490. 2
68019128491. 3

68019128492. 4



Question Number : 49 Question Id : 6801917254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

All are the example of assigned revenue except

1. Entertainment tax

2. Surcharge on stamp duty

. Surcharge on land revenue
4. Custom duty

Taa

Options :

68019128493. 1
68019128494. 2
68019128495. 3

68019128496. 4

Question Number : 49 Question Id : 6801917254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gaft Ay I & Ieev © Raa sad
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4. T Lep

Options :

68019128493. 1
68019128494, 2
68019128495. 3

68019128496. 4

Question Number : 50 Question Id : 6801917255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTIT
L Levied on sales generated during inter-state trade and commerce in a country
A |Service Tax L o = .
and subsumed under GST
B. |Excise Duty II. |Actually borne by the customers and subsumed under GST
. |Central Sales Levied by the Central Government of India for the production, sale, or license

C. I : i

Tax of certain goods and it 1s replaced by the GST
D. |Custom Duty | IV. | Tax imposed on exports and mmports of goods.

Choose the correet answer from the options given below:

L. (A)-(I). (B) - (IT). (C) - (TI). (D) - (IV))
2.(A) (II). (B) - (1I). (C) - (I). (D) - LI‘&)
3.(A)-(II). (B) - (III). (C) - (IV). (D) - (D)
4.(A) - (). (B) - (IV), (C) - (1). (D) - LH]
Options:

68019128497. 1
68019128498. 2
68019128499. 3

68019128500. 4

Question Number : 50 Question Id : 6801917255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Gl 11 = 11 9 e ifore

Gl balbl
4. [ | & SR g SR SR aford 3 R IR T OR T I 8
' (R Siugd o g

B. SR Led | 1L |aRed H T GR1 g o T S Swwe | wienierd fend
T e o B I o JeTe, fash! T g & o YR &1 g TR R TN

"|S e R 3 Sfewd # uftnfd T
D [dHged | IV [Fegal & i 3R ST O I T
e fqumu fodeal @ O Hel SR |
1. (A) - (I). (B) - (II). (C) - (1), (D) - (IV)
3 (4)- (). (B) - II). (C) - (I). (D) - (IV)
3. (A) - (I0). (B) - (IT). (C) - (IV). (D) - (I)
4.(A) - I, (B) - (IV). (C) - (I). (D) - (IT)
Options :

68019128497. 1
68019128498. 2
68019128499. 3

68019128500. 4

Question Number : 51 Question Id : 6801917256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A matrix having only m rows and one column is called:

1. Row Matrix

2. Column Matrix

. Square Matrix
4. Scalar Matrix

Options :

s

68019128501. 1
68019128502. 2
68019128503. 3

68019128504. 4



Question Number : 51 Question Id : 6801917256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Had m Ufaqdl 8IR Ue WY a1 Hicad &1 Sel ofidl ¢

1. feRT Afca
2. ®iaH Hica
3. TR Ofcag
4. TR Bfcad

Options :

68019128501. 1
68019128502. 2
68019128503. 3

68019128504. 4

Question Number : 52 Question Id : 6801917257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Amit deposited Rs. 1200 to a bank at 9% interest p.a. find the total interest that he will get at the
end of 3 years.

1. Rs. 324
2. Rs. 296
3.Rs. 326
4. Rs. 300

Options :

68019128505. 1
68019128506. 2
68019128507. 3

68019128508. 4

Question Number : 52 Question Id : 6801917257 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S 1200 F9T Tt § & 9 % a1 1ol R &1 b | el ST 1 BIoT ol 34 3
anf & i & fyam

1.%.324
2.%.296
3.%.326
4.7%. 300

Options :

68019128505. 1
68019128506. 2
68019128507. 3

68019128508. 4

Question Number : 53 Question Id : 6801917258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For a certain establishment. the total revenue function R and the total cost function C are given
by R =83 x—4x*—21 and

c=x"—12x*+48x + 11 where x = output.

Obtain the out put for which profit 15 maximum

faa -3
[ =t R |

4,
Options :
680191285009. 1
68019128510. 2
68019128511.3

68019128512. 4

Question Number : 53 Question Id : 6801917258 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:
68019128509. 1
68019128510. 2
68019128511.3

68019128512. 4

Question Number : 54 Question Id : 6801917259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In order to maintain the organizational hierarchy arrange the following in ascendmg order (lower
rank will come first).

(A). CEO

(B). Middle Management

(C). First Line Managers

(D). Rank and File Employees

Choose the correct answer from the options given below:

L. (A). (B). (C). (D).
2.(C). (D). (B). (A).
3.(D), (C). (B). (A).
4.(D).(B).(C). (A).
Options:

68019128513. 1
68019128514. 2
68019128515. 3

68019128516. 4



Question Number : 54 Question Id : 6801917259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3% Ugd AU |
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68019128513. 1
68019128514. 2
68019128515. 3

68019128516. 4

Question Number : 55 Question Id : 6801917260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in order of its sequence in decision making process
(A). Analyze the alternatives

(B). Generate multiple alternatives

(C). Recognize that a decision needs to be made

(D). Implement the selected alternative

Choose the correct answer trom the options given below:

.(C). (A). (B). (D).
-(C). (B). (A). (D).
.(B). (A). (D). (C).
.(A). (B). (D). (C).

o =

e faa

Options :



68019128517. 1
68019128518. 2
68019128519. 3

68019128520. 4

Question Number : 55 Question Id : 6801917260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fofa <= 3t ufsbar § (FafeiEd &1 g9 s ha & B9 I afiyd &3
(A) fa e o1 faeiyor o3

(B) 95 fdped I &3

(C) Tg UgdH X [ (0fg o FI savgsdr g

(D) Fad f[dhed Pl AR 3

- fau e fasedl O 9 9t SR 3 |

1. (C). (A). (B). (D).
2. (C). (B). (A). (D).
3.(B). (A). (D). (C).
4. (A), (B). (D). (C).

Options:

68019128517. 1
68019128518. 2
68019128519. 3
68019128520. 4

Question Number : 56 Question Id : 6801917261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following contributors in developing management thought and theories in different
time period (Oldest to Newest)

(A). Henri Fayol

(B). Elton Mayo

(C).C Chester Barnard

(D). Abraham Maslow

Options :

68019128521. 1
68019128522. 2
68019128523. 3

68019128524. 4

Question Number : 56 Question Id : 6801917261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

faftr Tramefy & vevH four ok frgidl @ fowfia o | fafafad aremsalsi &
AT P (W FdH U 9dHaq )
%:Ro[aﬂﬂﬂ

Options :

68019128521. 1
68019128522. 2
68019128523. 3

68019128524. 4



Question Number : 57 Question Id : 6801917262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

According to the traditional control model approach arrange the sequence of steps in controlling
process.

(A) Monitor ongoing organizational behavior and results

(B).Evaluate and take action

(C).Compare actual behavior and results agamst standards

(D).Establish standards

Choose the correct sequences of steps from the options given below:

Options :

68019128525. 1
68019128526. 2
68019128527. 3

68019128528. 4

Question Number : 57 Question Id : 6801917262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

URURS [0 IS 2R I0 & STHR U0 U] & =RUl &1 3T T ool $3
A) T 38 FIB1ED GGgR R GRUTAT &1 PR

B) el &1 3R PRATS B

(C) AP & STHR TR HagR AR YROITH B qe B3

(D) HIFD! B RG]

1 e e faeedl 9 =Rl & 98l 3 |
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(C
. (A).
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A
A
3 (D B
4.(D; B
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(A).
Options:

68019128525. 1



68019128526. 2
68019128527. 3
68019128528. 4

Question Number : 58 Question Id : 6801917263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Four Ps concept takes the seller’s view of the market. not the buyer’s view. From the buyer’s
viewpoint, four Ps are described as four As.

Match List-I (Four Ps) with List-II (Four As

LISTI LISTII
A |Product [ |Affordability
B. |Price II. |Acceptability
C. |Place [I1. |Awareness
D. |Promotion IV, [Accessibility

Choose the correct answer from the options given below:

1. (A) - (II). (B) - (IT). (C) - (IV). (D) - (I)

2.(A)-(I). (B) - (II). (C) - (III). (D) - [IE)

3. (A) - (I). (B) - (I1). (C) - (IV). (D) - (I1I)

4.(4) - (1. (B) - (). (C) - (V). (D) - (1)
Options:

68019128529. 1
68019128530. 2
68019128531. 3

68019128532. 4

Question Number : 58 Question Id : 6801917263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BHR Ut SGYRUI R & IR B faghal & Ve & ddl 5. 7 fb WiieRr & e &l
TR & =D T, IR 4l ol IR U & &9 | aftfa fea man g

Tl 191 Y= 11 Y e Sifoe
T 1 LIl
A 3T I |fmmEd
B [@md 1. [sfiedar
c. [=M L. [SEd®d!
D. [€aH IV. g
frafoiad faeedl 4 9 981 SR & 984 DI ;
1. (A) - (III). (B) - (). (C) - (IV). (D) - (I)
1-(3) (I). (B) - (I). (C) - (IIT). (D) - (IV)
3.(A)-(I). (B) - (II). (C) - (IV). (D) - (III)
4. (A) - (D). (B) - (D). (C) - (IV), (D) - (1)
Options :

68019128529. 1
68019128530. 2
68019128531. 3

68019128532. 4

Question Number : 59 Question Id : 6801917264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Consumers go through five stages in the process of adopting a new product. Arrange the initial
four stage i its correct sequence.

(A).Interest

(B). Awareness
(C).Tr1al
(D)

D).Evaluation

Choose the correct answer from the options given below:

Options :

68019128533. 1



68019128534. 2
68019128535. 3

68019128536. 4

Question Number : 59 Question Id : 6801917264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FYUIEI UP AU FIG I STH P! Hiehar § tig 2Rl ¥ oRd & | TRIYS IR TRU B
U T 3 H 1 oariud o |

(A) B

(B) Wi T=chd

(C).D‘xﬁm

(D) e+
2 feg 70 fdwed # 9 U5l S|

Options:

68019128533. 1
68019128534. 2
68019128535. 3

68019128536. 4

Question Number : 60 Question Id : 6801917265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-I (Retailer Type) with List-II (Description)

LISTI LISTII

I A store that carries several product lines tvpically clothing, home furnishing
" |and household goods

A |Specialty store

A relatively large, low-cost, low-margin, high-volume, self-service operation
. |designed to serve the consumer's total needs for grocery and household
products

Conventence
B II
store

C. |Supermarket IT1. | A store that carries a narrow product line with a deep assortment

D Department

8 B IV, | A relatively small store located near residential areas

Choose the correct answer from the options given below:

1. (A)-(I). ( - (IT). (C) - (III). (D (IV)

2. (A) - (I1). (B) - (III). (C) - (IV). (D) - (T)

3.(A)- (H)( -(IV). (C) - (II). (D) - (T)

4.(A) - (I). (B) - (IV). (C) - (I). (D) - (II)
Options :

68019128537. 1
68019128538. 2
68019128539. 3

68019128540. 4

Question Number : 60 Question Id : 6801917265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68019128537. 1
68019128538. 2
68019128539. 3

68019128540. 4

Question Number : 61 Question Id : 6801917266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the alternative concepts under which organizations design their marketing strategies in
order of the evolution

(A). Product Concept

(B). Production Concept

(C). Selling Coneept

(D). I\Iﬂikctmo Concept

Choose the eorreet answer from the options given below:

Options :

68019128541. 1



68019128542. 2
68019128543. 3

68019128544. 4

Question Number : 61 Question Id : 6801917266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dPfeud HauRUNe &t sIafyd &3 foe dgd 9716+ fad™ & &0 H 9 fagque
g @I dUR B & |

(A) FTE SAYURU

(B) 3G SAYRUT

(C) fah! sr@emun

(D) fdUuH s@yrun

-4 feu e fawedl § € 961 SR

1. (A). (B). (C).
2.(B). (C ) D).
3. (B). (A). (C).

)

4. (C). (
Options:

—— T —

, {C

).
)-
)
. (D), (A)

(D
(A
(D).
(A)

o

68019128541. 1
68019128542. 2
68019128543. 3
68019128544. 4

Question Number : 62 Question Id : 6801917267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following steps of selling process in correct order.
(A). Progpecting and qualifying

(B). Preapproach then approach.

(C). Presentation and demonstration

(D). Handling objections, closing, and follow-up

Choose the correct answer trom the options given below:

1. (A). (B). (C). (D).
2. (B). (C). (A). (D).
3. (B). (C), (D), (A).
4. (C). (B). (D). (A).

Options :

68019128545. 1
68019128546. 2
68019128547. 3

68019128548. 4

Question Number : 62 Question Id : 6801917267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fashg uigear o MyfaRad =rull &1 Uel HH H cdaliyd oL |
(A) GTaT 3R gigar

(B) qaHAM R effaim,

(C) UId 3R Ue==

(D) ARl B HUTEHL, 8 BAT SR 3T DAl

A= feu e faeedl o 9 get 3w 1

1. (A), (B). (C). (D).
2. (B). (C). (A). (D).
3.(B). (C). (D). (A).
4. (C). (B). (D). (A).

Options :

68019128545. 1
68019128546. 2
68019128547. 3

68019128548. 4



Question Number : 63 Question Id : 6801917268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are the possible objectives of Informative Advertising?
(A).Communicating customer value

(B).Telling the market about a new product

(C).Maintaining customer relationships

(D).Explaining how a product works

Choose the correct answer trom the options given below:

. (A). (B) and (D) only.
.(A). (B) and (C) only.
_(A). (B). (C) and (D).
4. (B). (C) and (D) only.

a =

Tad

Options :

68019128549. 1
68019128550. 2
68019128551. 3
68019128552. 4

Question Number : 63 Question Id : 6801917268 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafaiad @ 9 &F 9 aIdS (99194 & SHIidd 3530 52
(A) TT8D T DI U BT

(B) 9T6IR I 4l AU 3dIE & aR H gdHl

(C) UTed Hadl &l &Y G-I

(D) U8 UM & 3dE Y HTH Hidl o

- fau Y fdeedl O 9 98t SR 3|

1. %ad (A). (B) 3R (D).
2.%ad (A). (B) 3R (C)
3. (A). (B). (C) 3R (D).
4.%ad (B), (C) 3R (D)

Options:

68019128549. 1



68019128550. 2
68019128551. 3

68019128552. 4

Question Number : 64 Question Id : 6801917269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-I (Advertising Media) with List-II (Limitations)

LIST1 LISTII
A |Newspapers I. |Eelatively high cost per exposure
B. |Direct mail II. |Creative limitations
C. |Radio ITI. | Short life
D. |Outdoor IV. |Fragmented audiences

Choose the correct answer from the options given below:

- (A) - (I). (B) - (I1), (C) - (TIT), (D) - (IV)
(A) - (I). (B) - (IIT). (C) - (IV). (D) - (I)
(A) - (). (B) - (IV). (C) - (IIT). (D) - (I)
4. (A) - (II1). (B) - (I). (C) - (IV). (D) - (II)

fag b2 —

Options :

68019128553. 1
68019128554. 2
68019128555. 3

68019128556. 4

Question Number : 64 Question Id : 6801917269 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! 11 i 11 F e wifore

g 1 T I
A [gUERTE | L |Ufd URUeR HUaTeHd 3 R
B. [emieeda | I [x9ree® O
c. [fsar 18 KPEEICES
D. |[ama Iv. [Efsd axim
frafafad fdewedl & 3 98t SO &1 9u4 i

L. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2. (A) - (IT). (B) - (IID). (C) - AV). (D) - (I)
3.(A) - (II). (B) - (IV). (C) - (ITT). (D) - (I)
4. (A) - (). (B) - (I). (C) - (IV). (D) - (II)

Options :

68019128553. 1
68019128554. 2
68019128555. 3

68019128556. 4

Question Number : 65 Question Id : 6801917270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Advertising appeals should have which of the following characteristics?
(A). Entertaining

(B). Meaningful

(C). Distinctive

(D). Believable

Choose the correct answer from the options given below:

1. (A). (B) and (D) only.
2. (A). (B) and (C) only.
3. (B). (C) and (D) only.
4. (A). (C) and (D) only.

Options :
68019128557. 1
68019128558. 2

68019128559. 3



68019128560. 4

Question Number : 65 Question Id : 6801917270 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fasma= srdia & Fafafaa 8 9 @11 3t fawivard g1 =g
(A) FARS®

(B) 3ol

(C)

(D) fayrg &3 g

- fau e ol O 9 9ol SR I |

1. %ad (A). (B)3IR (D)
2. ad (A). (B)3R (C)
3.(B). (C) 3R (D)

4. Hdd (A), (C)3HR (D)

Options :

68019128557. 1
68019128558. 2
68019128559. 3

68019128560. 4

Question Number : 66 Question Id : 6801917271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Accounting standards deal with various aspects of accounting events..Arrange it in proper
sequence

(A). the disclosures relating to these transactions and events

(B). presentation of these transactions and events in the financial statements

(C). recognition of events and transactions in the financial statements

(D). measurement of these transactions and events

Choose the correct answer from the options given below:

Options :

68019128561. 1
68019128562. 2
68019128563. 3

68019128564. 4

Question Number : 66 Question Id : 6801917271 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g O @id geA1sl & qgqsl 9 Jaleid ¢ 3PhH H ouaiyd Hifoy
(A) 59 TFIeH R geA1sll I Haftd Haciam

(B) it faarull © g4 oAl 3R geA1sd &1 Wl

() fa<itg faavon & geanaii 3R a9-3f &1 gyg=am

(D) B9 TH-&A1 1R gersii &1 Argd

- f&u T fooedl § 9 wgt SR A |

1. (A). (B). (C). (D).
2. (B). (C). (D). (A)
3. (C). (D). (B). (A).
4.(C). (B). (D). (A).

Options :

68019128561. 1
68019128562. 2
68019128563. 3

68019128564. 4



Question Number : 67 Question Id : 6801917272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If goods are invoiced to the branch at cost. the trading results of branch can be ascertained by
which of the following methods:

(A). Debtors Method

(B). Trading and Profit and Loss Account (Final Account) method

(C). Stock and Debtors method

(D). Whole sale branches method

Choose the correet answer from the options given below:

A).
A),

g

) and (D) only.
) and (C) only.
.(C) and (D) only.
. (D) only.

(B
(B

S’

3
A
3.(B
4.(C)

._,—-'h_,-‘

Options :

68019128565. 1
68019128566. 2
68019128567. 3

68019128568. 4

Question Number : 67 Question Id : 6801917272 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68019128565. 1
68019128566. 2
68019128567. 3
68019128568. 4

Question Number : 68 Question Id : 6801917273 Question Type : MCQ Option Shuffling
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following are true about Hire Purchase?

(A). The title to goods passes on last payment in hire purchase

(B). The seller can sue for price if the buyer 1s in default. He cannot take possession of the
goods.

(C). The hirer is not responsible for risk of loss of goods if he has taken reasonable precaution
because the ownership has not yet transferred.

(D). Component, other than cash price included in nstalment 1s called Hire charges.

Choose the correct answer from the options given below:

(A). (B) and (D) only.
.(B). (C) and (D) only.
3. (A). (C), and (D) only.
4. (A). (B) and (C) only.

1.
2

Options :

68019128569. 1
68019128570. 2
68019128571. 3

68019128572. 4

:NolIs

Question Number : 68 Question Id : 6801917273 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

68019128569. 1
68019128570. 2
68019128571.3
68019128572. 4

Question Number : 69 Question Id : 6801917274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
cavers the recognition, measurement, presentation and disclosure of accounting
A |GAAP i P ETUNOS. P £
transaction
. responsible for approval of accounting standards and their modification for the
B [1asB m [P PP :

purpose of applicability to companies

refers to0 a common set of accepted accounting principles, standards, and
procedures that business reporting entity must follow

C. INFRA L

D. [MCA IV. |responsible for developing International Accounting Standards

Choose the correct answer from the options given below:

L. (A)-(I). (B) - (IT). (C) - (I). (D) - (IV)
2.(A) - (II). (B) - (IV). (C) - (I1I). (D) - (T)
3. (A) - (II), (B) - (IV). (C) - (1), (D) - (1)
4.(A) - (III), (B) - (IV). (C) - (II). (D) - (I)



68019128573. 1
68019128574. 2
68019128575. 3

68019128576. 4

Question Number : 69 Question Id : 6801917274 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 191 =1 11§ e hifoi

T T
A [Sioud 1 |cRaid ciH-cH @) HIRId], A1, Wi SR Udbd eyl 2mie 8
s |l vwmd L %ﬁwwﬁaﬂmm 3R HUHI! B A B D 3538 Y IAD G2H B
o [P SR.| ; [id craie Rigil, 7 3R sfgansil & U Tmr T i deitia

e [T & ford R Ruitd 3o ®f ureH &3 difeu|
D. [umaii IV. | SfeRiPTy T A & A & g el
fafored faeedl o 9 9t SR &1 951 o :

1.(A)-(I). (B) - (I). (C) - (IlT). (D) - (IV)

2.(A)-(II). (B) - (IV). (C) - (III). (D) - (I)

3. (A)-(II). (B) - (IV). (C) - (I). (D) - (1)

4. (A) - (III). (B) - (IV). (C) - (II). (D) - (I)
Options :

68019128573. 1
68019128574. 2
68019128575. 3
68019128576. 4

Question Number : 70 Question Id : 6801917275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-I (Costing) with List-II (Industry where applicable)

LIST1 LISTIT
Batch Costing | [ |O1l Industry

Joint Cost II. |School

Operating Cost | III. |Pharma Industry

ofa[w]»

Process Costing| IV. |Refineries

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (I). (C) - (IIT), (D) - (IV)
2. (A) - D). (B) - (I). (C) - (III). (D) - (IV)
3.(A) - (). (B) - (IV). (C) - (II). (D) - (I)
4. (A) - (III). (B) - (I). (C) - (1I). (D) - (IV)

Options :

68019128577. 1
68019128578. 2
68019128579. 3

68019128580. 4

Question Number : 70 Question Id : 6801917275 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

GE-1(QTe) & 1Y G- (ST STet g e &1 firae Sifs

il T
A [sTarEfuRo | L [q@3gm
B. |[€gad @NTd 1. |fqemea
C. [dara are 1L |BrHT 3R
D. |ufsan arta My | v, [Nw=aial

frafaiad fawedl O 9 el 3R &1 994 $Ifoiu

1. (A) - (I). (B) - (II). (C) - (IIT). (D) - (IV)
2.(A) - (IT). (B) - (I). (C) - (III). (D) - (IV)
3.(A) - (IID). (B) - V). (C) - (). (D) - (1)
4. (A) - (). (B) - (I). (C) - (II). (D) - (IV)

Options :
68019128577. 1
68019128578. 2



68019128579. 3

68019128580. 4

Question Number : 71 Question Id : 6801917276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the Items shown in Financial Accounts

LISTI LISTII
Purelv Financial Charges I. |Dividend received
Appropriation of Profits II. |Interest on bank loan, mortgage and debentures

Writing off Intangible and Fictitious Assets| IT1. |Dividend Paid

olofw]s

Pure Financial Incomes IV, |Amortization

Choose the eorrect answer from the options given below:

L. (A)-(IV). (B) - (1), (C) - (I). (D) - (III)

2.(A)-(IV). (B) - (I). (C) - (I). (D) - (IIT)

3. (A) - (II). (B) - (IT). (C) - (I). (D) - (I‘u)

4.(A) - (W. (B) - (W), (C) - AV). (@) - (D)
Options :

68019128581. 1
68019128582. 2
68019128583. 3
68019128584. 4

Question Number : 71 Question Id : 6801917276 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foreiTa @ral 1 guiig 75 a%qd &1 fHaH &)

a1 g

A |fag U fadm UaR I SRS E
B. |4 @1 fafaim I1. [d B0, §ed 3R BUGH W oA
C. |8rel 3R Predi-eh URGUFE B SfUfciRed S | 111 [TTHTE BT Y
D. |9 foiig o IV. [uREIeE
frafeted famel o 3 981 IR &1 991 Sifo -

1.(A)- (V). (B) - (II). (C) - (I), (D) - (I1T)

2. (A) - (IV). (B) - (D). (C) - (II). (D) - (TII)

3.(A) - (). (B) - (1), (C) - (1). (D) - (IV)

4.(A) - (II). (B) - (IT). (C) - (IV), (D) - (I)

Options :

68019128581. 1
68019128582. 2
68019128583. 3

68019128584. 4

Question Number : 72 Question Id : 6801917277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List-I (Term) with List-IT (Explanation)

LISTI LISTII

A |Formalization | I. |degree to which people are organized nto subunits according to their expertise

refers to the way in which people report to one another or connect to coordinate

B. |Span of control | IL : : i : BE
P their efforts in accomplishing the work of the organization

. |Command and — : —
C. b ITL. |the degree of definition in the roles that exist throughout an organization.

D. |Specialization | [V. |scope of the work that any one person in the organization will be accountablefor

Choose the correct answer from the options given below:

L. (A)-(I). (B) - (II). (C) - (II). (D) - (IV))

2.(A)-(IV). (B) - (III). (C) - (1I). (D) - (I)

3.(A) - (II). (B) - (III). (C) - (IV). (D) - (D)

4.(A)-(III). (B) - (IV). (C) - (IT), (D) - (I)
Options:

68019128585. 1



68019128586. 2
68019128587. 3
68019128588. 4

Question Number : 72 Question Id : 6801917277 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GRl-1(X65 ) & FIY GI-1I (FFTHRN) B e DIt

i a{;:;{;m ; Eg?ﬁﬁﬁﬁmﬁﬁggmm-Wﬁwm

5 [ 7 (o %% 2 T U R @1 RUIC ¥ & 31 9181 & 1 31 U e H
R U TS &l TG S & faU ged &

C ﬁﬁa’aﬁ 1L | e WG H Hielg YiHa1e H Ry o1 53t

D. |feRuga IV, 3 @ 1 ST foreidh o7y Ta a1 @ /1 it Sl gl

I fGu e fomedl # ¥ SR SR T

(A) -
(A)-
(A) -
(A)-

I). (B) - (I1). (C) - (III). (D) - (IV
IV). (B) - (II0), (C) - (T1), (D) - (I
II). (B) - (HI‘I C)-(IV).(D)-(
I ) (I

(I)
(
(
(IID). (B) - (IV). (C) - (1I). (D) -

1.
2
3.
4,
Options :

68019128585. 1
68019128586. 2
68019128587. 3

68019128588. 4

Question Number : 73 Question Id : 6801917278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Arrange the sequence of following institution in order of the year of establishment (old to new)
(A). NABARD

(B). IDBI
(C). SIDBI
(D). IDEC

Choose the correct answer from the options given below:

Options :

68019128589. 1
68019128590. 2
68019128591. 3

68019128592. 4

Question Number : 73 Question Id : 6801917278 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fFafRad Sl ®1 370 RIS I8 & HH & FHaRyd L (RHE Y - HH 1)
(A) FTTETS

(B) S SlailSg

() Rrsdl

(D) 3115, St U5, .

-fie feu U faeed! & § 951 SR 1|

1. (A). (B). (C).
2. (B). (A). (C).
3. (B). (A). (D).
4.(C). (B). (D).

D).
D).
)

—— —

).
A).

— —

Options :

68019128589. 1
68019128590. 2
68019128591. 3
68019128592. 4



Question Number : 74 Question Id : 6801917279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Trade Mark which hold a substantial financial value becomes a:

1. Registered Trademark
2. Copyright

3. Brand

4. Patent

Options:

68019128593. 1
68019128594. 2
68019128595. 3
68019128596. 4

Question Number : 74 Question Id : 6801917279 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U IR fog ol U Heaqul fawiig Oeg 39d 8 &4 9ldl o

1. Goilpd ¢ SHID
.ll hvd :l
3.95

4.°9cc
Options :
68019128593. 1
68019128594, 2
68019128595. 3

68019128596. 4

Question Number : 75 Question Id : 6801917280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Employer’s contribution to pension fund 1s specified u's:

. 80CCD

. 80CCD (1B)
. 80C

4. 10D

Options :

| R

L]

68019128597. 1
68019128598. 2
68019128599. 3

68019128600. 4

Question Number : 75 Question Id : 6801917280 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : Normal Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e (e & et &1 ave wRT & farfa e R
0TSt

 soTTST (18

g0t
4. 103t

Options :

fag 2 —

68019128597. 1
68019128598. 2
68019128599. 3

68019128600. 4



